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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and D.

Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.
3. There is no overall choice in this question paper.
4 Use of calculator is not permitted.
TUue-37 / SECTION-A

W WA 1 44 W TEE F 13 T
Question numbers 1 to 4 carry one mark each.

1 =3 1
(%)2 1 A T4 Hior |

-3

: 64 2
Find the val f| — "
mn e value o (25)

2 ToFEET FT ; 12— 4y +4. 1
Factorise : x*—4x+4.

3 (30°—a) 3R (125°+ 24) % AIYA I Y HIVT TER TEF € | ¢ FH AH F1 Hiforg | i
The two angles measuring (30°—a) and (125° + 24) are supplementary to each other. Find the
value of a.

4 g P, (a, b) % TAdeniss 91 SifStg, Stafer ife oo &1 QAT © a9 fAdrient &1 2 —12 % 1

Find the coordinates of the point P (a, b) whose ordinate is twice as much as abscissa and sum

-
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of the coordinates is —12.

Eus-9 / SECTION-B
¥ HEAT 59 10 ¥ g% & 2 IF ¥
Question numbers 5 to 10 carry two marks each.

R @ 0.5 % B 35 f o i, e o q T 2 g 2081 | 2
Express the rational number 0.9 in the form %,wherepandqare integers and q=0.
p(x).=x3b—-3x2+3x+27=ﬁlx—-;—ﬂmﬁﬂmmmml 4
Find the remainder when p(x) = 23— 322 + 3x + 2, is divided by x-%

AABC #, O 3iR P %m¥: AB iR AC W fiig #1 afg OA = %AB, PA = %AC AOA=PA, a1 2
zaisqﬁAB=Ac_§| £

In a AABC, O and P are the points on AB and AC respectively. If OA = ;;AB, PA = %AC

and OA =PA, show that AB=AC
e ¥, [jjm 813 £P=90°, ZRQP =40° 31K /PQS=20° &, & LR 3R /S T Fww| 2

! m
A A

. .
P>Q

\ %
In the figure I|jm. If ZP=90°, ZRQP=40° and ZPQS=20°, then find ZR and /S.

A4
39 &1 & & apfa §, <7 feigall % Fréwie fafay, wef g9 ol @ foem &) 2
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10 @Wﬁ%ﬁ%’wmlwm%mﬁ:mmgmmmta’tmmmaﬂml(z
V15 = 3.87 %1 w4 ®ifsw )
Perimeter of an isosceles triangle is 150 m. If its unequal side is 70 m, find the area of the
triangle. (Use V15 = 3.87)
TUS-| / SECTION-C

JE HEA 119 20 ¥ TAF & 3 37 €
Question numbers 11 to 20 carry three marks each.
1 HEAT [ W /13 ! fsfyd sif | 3
Locate /13 on the number line.
12 o 5 5
2‘/5(3’;15\}59 V5) 3 e Hfv 78 U R HE ¥ a1 iy gen? .
Simplify 2V3 @ + ) (1 = V) . Is it a rational or an irrational,
1+5
number ?
13 afGa+b=10 3R a2+ b2=58 , @ a3+ b3 1 WH T HAforT | 3
If a+b=10and a2 + b2 = 58, find the value of a3+ b3.
14 A2 +y2=221 R x—y=1% X3 — y3 HTHE T FifeT | 3
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If x2+y2 =221 and x— y=1, then find the value of x3— 3.
15 & 7 anfa #, W@id AB, CD 91 EF WX O R Wfa=d &%t €1 ZAOC, ZCOF 3R /BOF &t 3

Y F1a BT |
C 3

In the figure, lines AB, CD and EF intersect at O. Find the measures of ZAOC, ZCOF and
ZBOF. :

16 3
+ ad
17 3
D & B
In the given figure, DELAB. Find the values of x and y.
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B
18 ﬁqmﬁaﬁzBMN-zcwaﬂtANAAcﬁwmm%IfazaﬁﬁrqﬁAABM 3
AACM%I

£
19 = fag P(3, 5) M Fda qe H sqeifad wifwg ) o, foig P& e fréwienl % o ® sefag aa 3
@Qm&anaﬁmaﬁml x-maﬂzy-amffqa?waﬁa%mﬁaaaﬁml

Plota point P(3, 5) on the cartesian plane. Now change the signs of both coordinates of point P
and call it Q. Plot Q. Plot reflections of Q in x-axis and y-axis.

2! afs T wHEgHS & Q) il F el 90 m iR 400 m & @ W wHERS 1 I ok wfmm 3

T Hifoe |
If two diagonals of a rhombus are of lengths 90 m and 400 m, then find the height and
perimeter of the rhombus.

@us-q / SECTION-D

v TE 219 31 § TAF B 4 36 €|
Question numbers 21 to 31 carry fouf’marks &ach

at AR r=9— 4J_%??rx”—l3ﬁ'{ 34 aarwﬁ‘ﬂmaﬁﬁw

Eim9- 4J‘ ﬁndx —lzandx +l waird
5 .
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22 -1 -1 .. 4
fewffe: —— + 2 - a0
a +b '  aTt=bTt  phe—g-
—1 _1 lal 2
Prove that —2 it -t

e R e Pr—at
28 R +mrl-x+6 H (x—2) TF TGS § 3R 13 F 99 3 WIS n &1 m ok F 4
T A HI |

The polynomial x*+ma2—x+ 6 has (x=2) as a factor and leaves a remainder when divided
by x—3. Find the values of m and n.

24 9@ HIY 6 9G4yt +122 + 62+ 50y +26 H ¥ T W @ R W TFE P +4y+2F 4
ol fasmea @ wmg
Find what must be subtracted from the polynomial 44 +123+ 6,2+ 50y+26 so that the
obtained polynomial is exactly divisible by y? +4y+2. ]

25 o forTehT S = 15ka? — Skay — 10 y2k &, F1 faisdi 3 forq o sty 3 2 4
What are the possible expressions for the dimensions of the cuboid whose
volume = 15kx? ~ 5kxy — 10 3%k ?

26 IRy EFR: S WA 6 WA & 6 12500 -8y = 784 3R 52y — 2= 24 ¥ T 4
5x —2y %1 AH K FHIfeTg |
If x and y are two positive real numbers such that 125x3 - 81> =784 and 5x%—2xy2=24 , then

evaluate 5x —2y.
27 A 4
D
B (!

ABC TF fommerm w1 W ¥, oy il 3 9 wgmm ww owa@ ¥ fou s
T i g o 1 dien 1 A e T o e et e o R §2 AR AB = AC R A9 AABC &

3T1: W 4 foig D ¥ WK ¥ i 2DBC= £DCB, 1 firg FIRTY Rk AD F11 BAC %1 WHIRE &1
‘ A

B
ABC is the land of a school. Students thought of planting trees in and around the school to reduce air

pollution. What value are they showing by doing so. If AB=AC, D is the point in the interior of AABC
; such that ZDBC= ~DCB, then prove that AD bisects ~/BAC.
28 TF o AR @S g A GRS ¥ T 9gS % o Yarave @ et 99 Yawave 5 4

TR F GHE § 9 79 & @it wor gEe ¥ afeTe @ a2 AfuRY F1 S99 FQ g
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&1 Wl YT T R0 THE &', B ARG S8
"A square is a polygon made up of four line segments, out of which, length of three line segments are

equal to the length of fourth one and all its angles are right angles".
Using Euclid's Axiom/postulates, justify that all angles and sides of a square are equal.

29 oo F m 3R n @ 00 TF W F Taa &1 qufzy fF emaa R CcA, wEfia R BD & 4

TR T 1
B ,
m : & |
e. |
D - )
|
& &
In figure, m and n are two plane Mirrors perpendicular to each other. Show that incident ray
CAis paraléel to reflected ray BD.
% O

c 2 .
30 fos o T oo favget & i Aol o 47 @ aweor dan &1 3k o gyeo s § g 4
I THY 1 UH-ANGTE &, T A B0 61 TG Ferg |
Prove that the sum of three angles of a triangle is two right angles. If in a right angled triangle
an acute angle is one-fourth the other, find the acute angles.

31  ABUS W@rEvs ¢ au1 fag P 3R Q 18 W@rave AB ¥ favdia iR 39 yeR fem E R e S waw 4

A 3R B @ 99wy B 3T fi PQ, AB 1 o wnfgweas 1 ‘
AB is a line-segment and P and Q are points on opposite sides of AB such that each of them is
equidistant from the points A and B. Show that PQ is perpendicular bisector of AB.

-00o0o0o- ‘
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